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•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 16 rFkk iz'u 40 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 16 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %        

General Instructions :  

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    
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    (ii) iz'u Øekad 1 ls 40 rd oLrqfu"B iz'u gSaA izR;sd iz'u 1 vad dk gSA lghlghlghlgh mÙkj viuh 
mÙkj&iqfLrdk eas fyf[k,A 

        Questions from 1 to 40 are objective type questions. Each question carries     

1 mark. Write correct answer in your answer-book.   

1. izca/k gS %  1 

(A) ,d ijEijk (B) ,d Hkze 

(C) ,d izfØ;k (D) ,d fØ;k 

Management is : 

(A) A Tradition (B) An Illusion  

(C) A Process (D) An Activity 

2. ,d izca/kd mn~ns';ksa dks dSls izkIr djuk pkgrk gS \ 1 

(A) izHkkoiw.kZrk ls (B) dq'kyrk ls 

(C) dq'kyrk ,oe~ izHkkoiw.kZrk ls (D) dksbZ ugha  

How does a Manager want to achieve his objectives ? 

(A) Effectively (B) Efficiently  

(C) Effectively & Efficiently (D) None 

3. ^izFke iafDr ds izca/kd* fdl izca/kdh; Lrj ij vkrs gSa \ 1 

(A) mPp Lrj (B) e/; Lrj 

(C) fuEu Lrj (D) fdlh ij ugha  

To which level of management do the managers of first-line belong ? 

(A) Top Level (B) Middle Level 

(C) Lower Level (D) None of these 
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4. ^dqN djus ls igys euu* izca/k ds fdl dk;Z esa fd;k tkrk gS \ 1 

(A) fu;kstu (B) laxBu 

(C) funsZ'ku (D) fu;U=.k  

'Thinking before doing' under which function of management is this   

performed ? 

(A) Planning (B) Organising 

(C) Directing (D) Controlling 

5. 'kCn ^lg;ksx* ,oa ^leUo;* ,d-nwljs ds ………….. gSaA 1 

(A) i;kZ;okph  

(B) iwjd 

(C) fojks/kh   

(D) buesa ls dksbZ ugha  

The word 'Cooperation' and 'Coordination' each other are ………….. . 

(A) Synonym  

(B) Complementary  

(C)  Opposite  

(D) None of these 

6. leUo; dk laca/k izca/k ds fdl dk;Z ds lkFk gS \  1 

(A) fu;kstu (B) laxBu 

(C) fu;qfDrdj.k (D) lHkh ds lkFk 

To what function of management is coordination associated with ? 

(A) Planning  (B) Organising 

(C) Staffing (D) All of these 
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7. gsujh Qs;ksy us izca/k ds fdrus fl)kUr crk, gSa \  1 

(A) 10  (B) 12 

(C) 14  (D) 16 

How many principles of Management have been given by 'Henry Fayol' ? 

(A) 10  (B) 12 

(C) 14  (D) 16 

8. fuEu esa ls dkSu-lk gsujh Qs;ksy ds izca/k dk fl)kUr ugha ugha ugha ugha  gS \ 1 

(A) dk;Z foHkktu  

(B) foHksnkRed etnwjh 

(C) lksiku Ük`a[kyk  

(D) lerk 

Which one is not the Henry Fayol's principle of management ? 

(A) Division of work  

(B) Differential wages 

(C) Scalar chain  

(D) Equity 

9. Vsyj us fdldks izekfir djus dh ckr dgh gS \ 1 

(A) eky  (B) e'khu ,oa vkStkj  

(C) fof/k;k¡  (D) ;s lHkh 

What did Taylor want to standardize ? 

(A) Material (B) Machine and Tools 

(C) Methods (D) All of these 
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10. oSKkfud izca/k ykrk gS % 1 

(A) lkekftd ifjorZu  

(B) vkfFkZd ifjorZu 

(C) ekufld ifjorZu  

(D) vkS|ksfxd ifjorZu 

Scientific management brings : 

(A) Social change  

(B) Economic change  

(C) Mental change  

(D) Industrial change 

11. fu;kstu ………….. gksrk gSA 1 

(A) ykspiw.kZ (B) LFkk;h 

(C) n`<+  (D) dksbZ ugha  

Planning is …………. . 

(A) Flexible (B) Stable 

(C) Rigid (D) None 

12. fu;kstu ls ………….. deh vkrh gSA 1 

(A) leUo; esa (B) lk/kukas ds mfpr mi;ksx esa 

(C) Hkkoh vfuf'prrkvksa esa (D) fu;U=.k esa  

Planning results in decreasing ………….. . 

(A) Coordination (B) Proper use of resources 

(C) Future uncertainties (D) Control  
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13. fuEu esa ls vki fdl izdkj dh uhfr;ksa dh flQkfj'k djrs gSa \ 1 

(A) l[r  (B) uje  

(C) nksuksa  (D) dksbZ ugha  

Which out of following policies will you recommend ? 

(A) Strict (B) Lenient 

(C) Both  (D) None 

14. fu;kstu izfØ;k dks dc vuns[kk fd;k tk ldrk gS \ 1 

(A) lkekU; fLFkfr esa (B) vkikr fLFkfr esa 

(C) mijksDr nksuksa esa (D) fdlh fLFkfr esa ugha  

When can the planning process be ignored ? 

(A) In ordinary situation (B) In case of emergency 

(C) In Both of the above (D) Not any situation  

15. fu;kstu dk /;ku fuEu esa ls fdl ij dsfUnzr gksrk gS \ 1 

(A) ctV  (B) mn~ns';  

(C) dk;ZØe (D)  fu;e 

What out of the following is the focus of planning ? 

(A) Budget (B) Objectives 

(C) Programme (D) Rules 

16. ctV dh fo'ks"krk ughaughaughaugha  gS % 1 

(A) ctV Hkze iSnk djrk gSA  

(B) ctV fu;kstu dk ,d rÙo gSA 

(C) ctV dk laca/k fu;kstu ,oa fu;a=.k ls gSA  

(D) ctV mn~ns'; ijd gksrs gSaA 
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It is not the feature of budget : 

(A) Budget creates illusion  

(B) Budget is an element of planning 

(C) Budget relates to planning  & control 

(D) Budgets are object oriented 

17. laxBu iqfLrdk esa fuEu esa ls D;k fy[kk tkrk gS \ 1 

(A) D;k [kjhnk tkuk gS \  

(B) D;k cspk tkuk gS \ 

(C) laxBu dh lHkk,¡  

(D) fofHkUu inksa ds vf/kdkj ,oa mÙkjnkf;Ro 

Which of the following is written in the organisation manual ? 

(A) Goods purchased  

(B) Goods sold 

(C) Meeting of organisation  

(D) Authority and responsibility of different posts 

18. inksa ds e/; laca/kksa dh O;k[;k izca/k ds fdl dk;Z ds vUrxZr dh tkrh gS \ 1 

(A) fu;kstu  (B) laxBu 

(C) funsZ'ku (D) fu;U=.k 

Under what function of management the relationship between different posts 

(positions) is explained ? 

(A) Planning (B) Organising 

(C) Directing (D) Controlling 
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19. fuEu esa ls vkSipkfjd laxBu ds vax dkSu-ls gSa \ 1 

(A) dk;kZRed laxBu  

(B) js[kk laxBu 

(C) js[kk ,oe~ LVkQ laxBu  

(D) mijksDr lHkh 

Which of the following are parts of formal organisation ? 

(A) Functional organisation  

(B) Line organisation 

(C) Line & Staff organisation  

(D) All of the above 

20. dk;kZRed laxBu dk iz;ksx ………….. Lrj ij fd;k tkrk gSA 1 

(A) mPp   (B) e/; 

(C) fuEu  (D) lHkh 

Functional organisation is used at ………….. level. 

(A) Top Level (B) Middle Level 

(C) Lower Level (D) All 

21. vf/kdkj  varj.k dk vk/kkj D;k gS \  1 

(A) dsUnzhdj.k  

(B) fodsanzhdj.k 

(C) (A) rFkk (B) nksuksa  

(D) Je foHkktu 
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What is the basis of delegation of authority ? 

(A) Centralization  

(B) Decentralization 

(C) Both (A) and (B)  

(D) Division of Labour 

22. v/khuLFkksa ds egÙo esa o`f) djus okyh fØ;k dgykrh gS % 1 

(A) dsUnzhdj.k  

(B) HkkjkiZ.k 

(C) fodsUnzhdj.k  

(D) lg;ksx 

Every thing that goes to increase the importance of subordinates is called : 

(A) Centralization  

(B) Delegation of authority 

(C) Decentralization  

(D) Cooperation 

23. deZpkfj;ksa dks laxBu ls ifjfpr djokus dks dgrs gSa % 1 

(A) vfHkfoU;kl   

(B) lekthdj.k 

(C) mijksDr nksuksa  

(D) dk;Z ij yxkuk 

Introducing employees to the organisation is called : 

(A) Orientation (B) Socialisation 

(C) Both of the above (D) Placement 
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24. fuEu esa ls fu;qfDrdj.k dk rÙo dkSu-lk gS \ 1 

(A) HkrhZ  (B) p;u 

(C) izf'k{k.k (D)  mijksDr lHkh 

Which of the following is the element of staffing ? 

(A) Recruitment (B) Selection 

(C) Training (D) All of the above 

25. HkrhZ ds cká òksr esa 'kkfey gS % 1 

(A) foKkiu  

(B) jkstxkj dk;kZy; 

(C) (A) rFkk (B) nksuksa   

(D) buesa ls dksbZ ugha   

External source of recruitment is included : 

(A) Advertisement  

(B) Employment Exchange 

(C) Both  (A) & (B)  

(D) None of these 

26. jkstxkj vuqca/k esa ………….. lwpuk,¡ nh tkrh gSaA 1 

(A) tkWc dk uke (B) mÙkjnkf;Ro 

(C) HkÙks  (D) lHkh  

Contract of employment contains ………….. information. 

(A) Job Title (B) Responsibilities 

(C) Allowances (D) All 
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27. funsZ'ku esa ………….. 'kkfey ugha gSA 1 

(A) fu;kstu (B) usr`Ro  

(C) lUns'kokgu (D) vfHkizsj.kk  

………….. is not included in directing. 

(A) Planning (B) Leadership 

(C) Communication (D) Motivation 

28. fuEu esa ls dkSu ;g lqfuf'pr djrk gS fd dke okafNr izxfr ls py jgk gS vFkok ugha \ 1 

(A) fu;kstu (B) laxBu 

(C) lUns'kokgu (D) i;Zos{k.k  

Which of the following ensures that the work is progressing at the desired 

speed or not ? 

(A) Planning (B) Organising 

(C) Communication (D) Supervision 

29. ekSfnzd izsj.kk dk mnkgj.k gS % 1 

(A) cksul  (B) in 

(C) dk;Z lEiUurk (D) lsok lqj{kk  

Example of monetary motivation : 

(A) Bonus (B) Status 

(C) Job Enrichment (D) Job Security 

30. izcU/kd + usr`Ro ;ksX;rk = ………….. A 1 

(A) gkfu  (B) 'wkU; 

(C) lQyrk (D) vlQyrk 



 ( 12 ) 5609/(Set : D) 

5609/(Set : D)/ II 

Manager + Leadership ability = ………….. . 

(A) Loss  (B) Nothing (Zero) 

(C) Success (D) Failure 

31. vaxwjhyrk tky ………….. dk mnkgj.k gSA 1 

(A) ,dy jhfr  

(B) xi'ki Ük`a[kyk  

(C) mijksDr nksuksa  

(D) pØh;  

…………..  is an example of grapevine network.  

(A) Single standard  

(B) Gossip chain 

(C) Both of the above  

(D) Circular 

32. Åij dh vksj lUns'kokgu esa D;k vkrk gS \ 1 

(A) izfrosnu (B) fu;e 

(C) lwpuk,¡ (D) funsZ'k 

What is included in upward communication ? 

(A) Reports (B) Rules 

(C) Information (D) Instructions 

33. ………….. izeki mRiknu ls lacaf/kr gSA 1 

(A) fdLe  (B) ek=k 

(C) fdLe o ek=k (D) Je  
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………….. standard is associated with production. 

(A) Quality  

(B) Quantity 

(C) Quality and Quantity  

(D) Labour 

 

34. CPM ladsrk{kj dk iw.kZ :i fyf[k,A  1 

Write full form of the abbreviation CPM. 

 

35. LFkk;h lEifÙk;ksa esa fofu;ksx laca/kh fu.kZ; dks ………….. dgrs gSaA 1 

(A) dk;Z'khy iw¡th dk izcU/k  

(B) iw¡th ctfVax 

(C) foÙkO;oLFkk dk fu.kZ;  

(D) buesa ls dksbZ ugha  

Fixed assets investment decision is called ………….. . 

(A) Management of working capital  

(B) Capital Budgeting 

(C) Financing Decision  

(D) None of these 
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36. fuEu esa ls fdls pkyw lEifÙk;ksa esa 'kkfey ugha ugha ugha ugha fd;k tkrk gS \ 1 

(A) udn jkf'k  

(B) Lda/k  

(C) nsunkj   

(D) nh?kZdkyhu fofu;ksx 

Which of the following is not included in current assets ? 

(A) Cash  

(B) Stock 

(C) Debtor  

(D) Long term investment 

37. foi.ku fopkj/kkjk dk dsUnz-fcanq ………….. gksrk gSA 1 

(A) miHkksDrk larqf"V  

(B) miHkksDrk dY;k.k 

(C) mRikn dh xq.koÙkk  

(D) mRiknu dh ek=k  

The central point of the marketing point of view is ………….. . 

(A) Customer's satisfaction  

(B) Customer's welfare 

(C) Quality of the product  

(D) Quantity of product 
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38. foKkiu dk ykHk gS % 1 

(A) vf/kd igq¡p  

(B) de 'kfDr'kkyh 

(C) vykspdrk  

(D) izfriqf"V dk vHkko  

An advantage of advertisement : 

(A) Better reach  

(B) Less effective 

(C) Rigidity  

(D) Lack of feedback 

39. ………….. esa i;kZIr yksp'khyrk jgrh gSA 1 

(A) izpkj    

(B) foKkiu 

(C) foØ; lao)Zu  

(D) O;fDrxr foØ;  

………….. makes flexibility available. 

(A) Publicity  

(B) Advertisement 

(C) Sales promotion  

(D) Personal selling 
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40. ^thjks izfr'kr ij foÙk iznku djuk* fuEu esa ls fdldh fof/k gS \ 1 

(A) foKkiu   

(B) O;fDrxr foØ; 

(C) foØ; lao)Zu  

(D) izpkj  

'Providing finance at zero percent' which of the following adopt this method ? 

(A) Advertisement   

(B) Personal selling 

(C) Sales promotion  

(D) Publicity 

S 

 


